k

BERIZRIERT © ARIBTHA

GMT GLOBAL INC.

PRT2

HERE

GMT K12 Z HepcoMotion B B A HRER 1 NESBMMNERZIRER  RETARAREBENIER
ZEHINHE  BEBEEE - FREEHTEENNRANTEENASS - REEEREN VR HEBNIRKEE
ERERANIRTZAR(E A - BERITIACS Hepco BIE B/ ORNAE B EEWRIER - Z 58 o7& & & B il A RELE R %Y HepcoMotion 2
ENEEEE (0056) -

EE (C) SHEE (F)
c
0o pe:bi
R
‘F"’T 777777 T
Y000 N .
¢ %uuaum o N
f e el
—— o |
1
< i f< Sy im
1T ; 1 i M 21
| I I
Tz dn L7
1 UL
HAEE BIEE B -FB
P E R
EEA PR 2B 15 F
BAREE EIF | EEIC
EBHER === B c D E F G G1
R 2 A Al
= +01 | *0.1
LB 12 R12 - - TNMS 12 17 7 10 13 5.2 2 3 6.5 12
LB 20 R20 - REV, RIV TNV 20 19 8 12 225 6.5 2 4.75 13 13
LB 25 R25 RD25 RES, RIS TNS 25, TNSE 25 12 16.5 28 9.9 2 6 16 18
LB 44 R44 RD44 REM, RIM TNM 44, TNME 34 17 20 38 15 24 8 22 25
LB 76 R76 - REL, RIL TNL 76 50 25 33.5 57 22.7 4.5 12 33 38
| J
Ho| oW | K | L | ™ | N | o e | m#m
Ox RE PRAARE Lo
3.1 - 3 2.5x5 M2.5x 6 2.7 2.5 3 5.46 9 2.2 2 LB 12
7.2 - 4 25x10 M2.5x 6 2.7 2.5 3.5 6.75 10.75 4.5 3 LB 20
5.5 71 7 3x10 M3x 8 3.2 4.5 5 9 15.25 5.5 6 LB 25
7 9 1 3x16 M4 x 10 4.2 55 6.25 11.5 18.25 8 16 LB 44
10 12.6 18 3.5x22 M5 x 12 5.2 9 10 19 315 1.5 44 LB 76
FE

11RT 2{8FSE+FIRET DIN7985A - AREEAMEEARE (F2RRHPIJI) <ttsh BRME T 2@ARERE PT IR TR +FIR4T -
ARZERRLEERE (F2RRTJ) -

2. HREEERECRATRRNRE « FRMRFEER - MHHLE - £ 68 FER EP WRINHHETEEE -

3. TR 25 ~ 44 F1 76 MUREURBIRE - WHHERHRBR "H1” LUBREFEISARY "V 38" ([J40) -

FTRBSF MR -
LB25 F FB
BB
B AL AERY SEEEA /;%ﬁﬁ(ﬁ%ﬁmﬁ
MAREE: F= iR RAEABRARE
C=5%a

BRI

iy ‘www.gmtglobalinc.com






